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001. Lke[uLkk Ãkife LkËe MkªÄw LkËeLke WÃkLkËe (Tributory) LkÚke ?

(A) çkeÞkMk (Beas) (B) ÍLkMfkh (Zanskar)

(C) fu{ktøk (Kemeng) (D) ~Þkuf (Shyok)

002. Lke[u ykÃku÷ ðkõÞku [fkMkku.

1. õ÷kÞ{ux [uLsLkk fkhýu [ku{kMkk Ãknu÷k yLku ÃkAe, yhçk Mkkøkh{kt [¢ðkíkLke MktÏÞkyku ½ýes ðÄe økÞu÷ Au.

2. çktøkk¤Lke ¾kze yLku yhçke Mk{wÿ{kt ËwrLkÞkLkk fw÷ [¢ðkíkLkk, 50% [¢ðkíkku ÚkkÞ Au.

(A) {kºk 1 ðkõÞ ÞkuøÞ Au. (B) {kºk 2 ðkõÞ ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke.

003. 10-Ten degree [ìLk÷ fÞk çku rðMíkkhku ðå[u ykðu÷ Au ?

(A) MkkWÚk ytËk{kLk yLku ÷ex÷ ytËk{kLk (B) LkkuÚko ytËk{kLk yLku {ez÷ ytËk{kLk

(C) ytËk{kLk yLku rLkfkuçkkh xkÃkwyku (D) fkh rLkfkuçkkh yLku økúuxh rLkfkuçkkh

004. Mkík÷s LkËe fÞk ÃknkzLkk ½kx{ktÚke ¼khík{kt «ðuþu Au ?

(A) Lkeíke ÃkkMk (Niti Pass) (B) {kLkk ÃkkMk (Mana Pass)

(C) þeÃkfe ÷k ÃkkMk (Shipki La Pass) (D) LkÚkw ÷k ÃkkMk (Nathu La Pass)

005. Lke[uLkk Ãkife fE LkËe zuÕxk ‘Delta’ çkLkkðíke LkÚke ?

1. íkkÃke 2. {nkLkËe 3. Lk{oËk 4. økkuËkðhe

(A) 1 yLku 2 (B) 1 yLku 3

(C) 1 yLku 4 (D) 1, 2, 3 yLku 4

006. øktøkk LkËeLkk «ðknLku çkktø÷kËuþ{kt .......... Lkk{u yku¤¾kÞ Au.

(A) ¼køkehÚke (B) nwøk÷e

(C) ÃkÈk (Padma) (D) çkúBnÃkwºk

007. {ýeÃkwh hkßÞ{kt ykðu÷ {eXk ÃkkýeLkk MkhkuðhLkwt Lkk{ þwt Au ?

(A) ðw÷h (Wular Lake) (B) r[÷efk (Chilika Lake)

(C) ÷kufíkf (Loktak Lake) (D) çkzkÃkkLke (Bada Pani Lake)

008. ¼khík{kt Mkki-«Úk{ íkktçkkLke ¾ký (Copper mine) fE søÞkyu þY fhðk{kt ykðu÷ níke ?

(A) ®MkËhe - rçknkh (B) ÃkkuxkuoLkkuðk - íkk{e÷Lkkzw

(C) ½kxrþ÷k - Íkh¾tz (D) hkLkeÃkux - íkk{e÷Lkkzw

009. {kWLx yuðhuMx Ãkh [ZLkkh rðïLke «Úk{ {rn÷k fkuý níke ?

(A) òwfku íkuçkE (B) {khøkúux yuçkux

(C) ÷kõÞk þuhÃkk (D) çku÷uLxk íkuhu~fkuðk

010. ¼khík rðïLkk ¼qr{¼køkLkk fw÷ ûkuºkV¤Lkku (÷øk¼øk) fux÷ku rnMMkku Ähkðu Au ?

(A) 2.4% (B) 3.5%
(C) 4.6% (D) 1.3%
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011. íkk{e÷LkkzwLkwt «ÏÞkík ÷kufLkkxâ fÞwt Au ?

(A) íkuhfwxq (Terukkuttu) (B) fku÷k¥k{ (Kolattam)

(C) zÃÃkwt (Dappu) (D) ÷tçkkze (Lambadi)

012. Lke[uLkk Ãkife fÞk MÚk¤ku {wh÷ ÃkuLxªøk (Mural painting) {kxu òýeíkk Au ?

1. ystíkk økwVkyku 2. ÷uÃkkûke {trËh 3. Mkk[eLkku MíkwÃk

(A) 1 yLku 3 (B) 2 yLku 3

(C) 1 yLku 2 (D) 1, 2 yLku 3

013. Lke[uLkk Ãkife fÞwt ÃkwMíkf ©e yh®ðË ½ku»k îkhk ÷¾ðk{kt ykðu÷ níkwt ?

(A) Ërûkýk (B) ¼ðkLke {trËh

(C) økw÷kçkLkku rfMMkku (D) fMkhík

014. {kWLx ykçkw ÃkkMku ykðu÷ ÷wLkk ðMkkne {trËh (Luna Vasahi Temple) fkuLku yŠÃkík fhðk{kt ykðu÷ Au ?

(A) ðhkne {kíkk (B) þtfh ¼økðkLk

(C) Lku{eLkkÚk ¼økðkLk (D) økýuþ ¼økðkLk

015. ¼khíkLkk LkuÃkku÷eÞLk íkhe¾u fkuý «ÏÞkík Au ?

(A) Mk{wÿ økwÃík (B) rð¢{krËíÞ

(C) MftË økwÃík (D) fw{kh økwÃík

016. {n{Ë ík½÷fu þY fhu÷ “rËðkLku fkune” fE çkkçkík MkkÚku Mktf¤kÞu÷ níkwt ?

(A) V¤ÿwÃk s{eLk ÃkhLkku {nuMkw÷e Ëh ðÄkhðku (B) ÷~fhe MkkÄLkkuLke ¾heËe

(C) ¾uíke ðkze ¾kíkw (D) fwËhíke ykVíkku Mkk{Lkku fhðkLkwt ykÞkusLk

017. økwÃík Mkk{úkßÞ ËhBÞkLk «ÏÞkík çkk½ ÃkuLxªøk (Bagh painting) Lkk yðþu»kku nk÷Lkk fÞk hkßÞ{kt òuðk {¤u Au ?

(A) {nkhk»xÙ (B) A¥keMkøkZ

(C) rçknkh (D) {æÞ«Ëuþ

018. “þku{ÃkuLk ykrËòíke” (Shom pen Tribe) fÞk rðMíkkh{kt òuðk {¤u Au ?

(A) {eÍkuhk{ (B) ykMkk{

(C) Lkkøkk÷uLz (D) rLkfkuçkkh xkÃkwyku

019. Lke[u ykÃku÷ ðkõÞku [fkMkku.

1. sMkðtíkhkÞ ytòrhÞk ykŠÚkf ûkuºk MkkÚku Mktf¤kÞu÷ Au yLku íkuykuLku 1957{kt ÃkÈ©e (Padmashri) yuðkuzo ykÃkðk{kt
ykðu÷ níkku.

2. ÷k÷[tË rnhk[tË ðnký Wãkuøk MkkÚku Mktf¤kÞu÷ níkk yLku íkuyku hkßÞMk¼kLkk MkËMÞ Ãký níkk.

(A) {kºk 1 ÞkuøÞ Au. (B) {kºk 2 ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ÞkuøÞ Au. (D) 1 yLku 2 çktLku ÞkuøÞ LkÚke.

020. ¼khíkLke ¾u÷kze {kLkk Ãkxu÷ fE h{ík MkkÚku Mktf¤kÞu÷ Au ?

(A) íkhý (Mðe{ªøk) (B) Ëkuz

(C) xuçk÷ xurLkMk (D) ÷kìLk xurLkMk

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BEQ - MASTER ] 3 P.T.O.

021. “{kLk[íkwh yLku Ä{o÷û{e” ÃkkºkkuLkwt MksoLk fkuýu fhu÷ níkwt ?

(A) h½wðeh [kiÄhe (B) økkuðÄoLkhk{ rºkÃkkXe

(C) Äq{fuíkw (D) sÞtrík Ë÷k÷

022. “÷køÞku fMkwtçkeLkku htøk,

hks {Lku ÷køÞku fMkwtçkeLkku htøk,

sLkLkeLkk niÞk{kt ÃkkuZíkk-ÃkkuZíkk,

ÃkeÄku fMkwtçkeLkku htøk.”

yk {nkLk fkÔÞ ÃktÂõíkykuLkk ÷u¾f fkuý Au ?

(A) Lkh®Mkn {nuíkk (B) «u{kLktË

(C) Íðuh[tË {u½kýe (D) W{kþtfh òu»ke

023. “{w¾e økhçkz ËkMk” fE çkkçkík MkkÚku Mktf¤kÞu÷ Au ?

(A) f]r»k ûkuºk{kt MktþkuÄLk (B) Mðkíktºk Mktøkúk{

(C) rþûký ûkuºk (D) økwshkíke fkÔÞku

024. ¼khíkLkk EríknkMk{kt n»koLku ËkLkðeh hkò íkhe¾u ÞkË fhðk{kt ykðu Au, Ëh Ãkkt[ ð»kuo «Þkøk{kt .......... Lkwt ykÞkusLk Úkíkwt
níkwt yLku økheçkku, MktíkkuLku ¼tzkh ¾÷kMk Lk ÚkkÞ íÞkt MkwÄe ËkLk ykÃkðk{kt ykðíkwt níkwt.

(A) {kuûk {rn{k (B) {nk {kuûk Ãkrh»kË

(C) Ä{oMk¼k (D) íkeÚkoÞkºkk

025. Lke[uLkk Ãkife fÞw hkßÞ/þnuh B.C 600 Ãknu÷k ¾wçks þÂõíkþk¤e níkwt ?

(A) ftçkkus (B) fkþe

(C) {økÄ (D) øktÄkh

026. «{w¾ ÃkkË Lkøkhku (Presidency town){kt fÞk ð»ko{kt rðï rðãk÷Þ (ÞwrLkðŠMkxe)Lke MÚkkÃkLkk fhðk{kt ykðu÷ níke ?
(A) 1888 (B) 1877
(C) 1867 (D) 1857

027. ©e rðLkkuË rfLkkheðk¤k yLku ©e W{kfktík frzÞk fE [¤ð¤ ð¾íku þneË ÚkÞu÷ níkk ?

(A) “®nË Akuzku [¤ð¤” (B) ÔÞÂõíkøkík MkíÞkøkún

(C) MkrðLkÞ fkLkqLk ¼tøk (D) nku{Y÷ [¤ð¤

028. hkßÞ{kt økuhÔÞðMÚkk (Misgovernance) Lkk çknkLkk nuX¤ zu÷nkWMke îkhk fÞk hkßÞLku ¾k÷Mkk fhðk{kt
ykðu÷ níkwt ?

(A) yðÄ (B) Mkíkkhk

(C) ÍktMke (D) LkkøkÃkwh

029. rLkðkhf níÞk (preventive murder) íkhe¾u {uLkxuøÞw (mantague) îkhk fÞk «MktøkLku ðýoðu÷ Au ?

(A) fÍoLk WÃkh økku¤eçkkh (B) {nkí{k økktÄeSLke níÞk

(C) INA Lkk fkÞofíkkoykuLke níÞk (D) sr÷Þktðk÷k çkkøkLkku níÞkfktz

030. økwshkíkLkk “yþkuf” íkhe¾u fkuý «ÏÞkík Au ?

(A) rMkæÄhks sÞ®Mkn (B) ¼e{Ëuð Ãknu÷ku

(C) ysÞÃkk¤ (D) fw{khÃkk¤

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BEQ - MASTER ] 4 [Contd.

031. Mkh Úkku{Mk hu÷uLkk yæÞûk ÃkËu òLÞwykhe 1902{kt su fr{þLkLke h[Lkk fhðk{kt ykðu÷e níke íku fÞk çkkçkíkkuLke ¼÷k{ý
fhðk rLk{ðk{kt ykðu÷ níkwt ?
(A) þiûkrýf MkwÄkhk (B) LkkýkrfÞ MkwÄkhk
(C) LÞkíktºk{k MkwÄkhk (D) ðneðxe íktºk{kt MkwÄkhk

032. çkhkfÃkwh níÞkfktzLkk çkLkkð ð¾íku økðLkoh sLkh÷ íkhe¾u fkuý níkwt ?
(A) ÷kuzo {eLxku (B) ÷kuzo yu{nMx
(C) ÷kuzo nu®MxøMk (D) ÷kuzo ÷ufLk

033. Mkuçke fkuLkk fk{fks WÃkh rLkÞtºký fhu Au ?
(A) BÞw[wy÷ Vtz (B) ¢uzex huxªøk yusLMkeyku
(C) ðuL[h furÃkx÷ Vtz (D) WÃkhkuõík çkÄe yusLMkeyku / Vtzku

034. “MkwøkBÞ ¼khík yr¼ÞkLk” fkuLkk {kxu þY fhðk{kt ykðu÷ Au ?
(A) økúkBÞ rðMíkkhLkk økheçkku {kxu
(B) Mkøkeh ðÞLke fLÞkyku {kxu
(C) y÷øk heíku Mkûk{ Mk{wËkÞ {kxu (differently able community)

(D) 25 Úke 30 ð»koLkk ÞwðkLkku {kxu
035. VwøkkðkLkk fkhýu...

1. ¼kð{kt Mkíkík ðÄkhku ÚkkÞ Au.
2. ¾heË þÂõík{kt ðÄkhku ÚkkÞ Au.
3. WíÃkkËLkLkk çkÄks MkkÄLkkuLkku Ãkqýo WÃkÞkuøk ÚkÞk ÃkAe Ãký ¼kð ðÄu Au.
WÃkhkuõík Ãkife fÞk ðkõÞku ÞkuøÞ Au ?
(A) 1 yLku 2 (B) 2 yLku 3
(C) 1 yLku 3 (D) 1, 2 yLku 3

036. ð»ko 2021-22Lkk {kLkð rðfkMk Mkq[fktf (HDI) {wsçk ¼khík fÞk MÚkkLk WÃkh Au ?
(A) 130 (B) 131
(C) 132 (D) 133

037. “Sustainable Action for Transforming Human Capital - SATH” fkÞo¢{ fkuLkk îkhk þY fhðk{kt ykðu÷
Au ?
(A) MðkMÚÞ yLku Ãkrhðkh fÕÞký {tºkk÷Þ (B) Lkerík ykÞkuøk
(C) Mkk{kSf LÞkÞ yLku yrÄfkrhíkk rð¼køk (D) rð¿kkLk yLku «kiãkurøkfe rð¼køk

038. ËuþLkk ATM, ¢uzex fkzo ðøkuhuLkwt MktÞkusLk yLku Mktf÷Lk fkuLkk îkhk fhðk{kt ykðu Au ?
(A) heÍðo çkUf ykìV EÂLzÞk (B) Mkuçke («rík¼qrík yLku rðrLk{Þ çkkuzo)
(C) LkuþLk÷ Ãku{uLx fkuÃkkuohuþLk ykìV EÂLzÞk (D) {wtçkE Mxkìf yuõMk[Us

039. Lke[u ykÃku÷ ðkõÞku [fkMkku.
1. ÃkMktË fhu÷ rðfÕÃk {kxu síkku fhðku Ãkzíkku ©uc rðfÕÃk yu “ðifÂÕÃkf ¾[o Au”.
2. rLkÞkusf fkuE ðMíkwLkwt WíÃkkËLk fhðk{kt su LkkýkfeÞ [qfðýeyku fhu Au íkuLku “LkkýkfeÞ ¾[o” fnu Au.
(A) 1 yLku 2 çktLku ÞkuøÞ Au. (B) {kºk 1 ÞkuøÞ Au.
(C) {kºk 2 ÞkuøÞ Au. (D) 1 yLku 2 çktLku ÞkuøÞ LkÚke.
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BEQ - MASTER ] 5 P.T.O.

040. Lke[uLkk ðkõÞku [fkMkku.

1. ßÞkhu ytËksÃkºk{kt ytËkSík ¾[ko fhíkk ytËkSík ykðf ðÄkhu nkuÞ, íkuðk ytËksÃkºkLku ¾kÄðk¤w ytËksÃkºk fnu Au.

2. ßÞkhu ytËksÃkºk{kt ytËkSík ¾[ko fhíkk ytËkSík ykðf ykuAe nkuÞ íÞkhu íkuLku Ãkwthkíkðk¤w ytËksÃkºk fnu Au.

(A) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ Au. (B) {kºk 1 ðkõÞ ÞkuøÞ Au.

(C) {kºk 2 ðkõÞ ÞkuøÞ Au. (D) 1 yLku 2 çktLku ðkõÞku ÞkuøÞ LkÚke.

041. heÍðo çkUfLkwt LkkýkfeÞ ð»ko “òw÷kEÚke òwLk” MkwÄe níkw. íku Mk{Þ økk¤ku çkË÷eLku fÞk ð»koÚke “yur«÷Úke {k[o” fhðk{kt
ykðu÷ Au ?

(A) 2021-2022 (B) 2020-2021

(C) 2019-2020 (D) 2018-2019

042. ¼khíkLkku ykŠÚkf Mkðuoûký Ëh ð»kuo fkuLkk îkhk «fkrþík fhðk{kt ykðu Au ?

(A) heÍðo çkUf ykìV EÂLzÞk (B) Lkerík ykÞkuøk

(C) ¼khíkLkwt Lkkýk Ãkt[ (D) Lkkýk {tºkk÷Þ, ¼khík Mkhfkh

043. Ãkt[kÞíkkuLke LkkýkfeÞ ÃkrhÂMÚkrík MkwÄkhðk Lkkýk Ãkt[Lke h[Lkk ¼khíkLkk MktrðÄkLkLke fE f÷{ nuX¤ fhðk{kt ykðu Au ?

(A) 243 Í (B) 243 x

(C) 243 X (D) 243 Z

044. ¼khíkLkk MktrðÄkLkLke f÷{ 329{kt fE çkkçkíkLke òuøkðkE fhðk{kt ykðu÷ Au ?

(A) ÷kufMk¼kLke yLku rðÄkLkMk¼kykuLke [qtxýe{kt ÃkwÏík {íkkrÄfkh çkkçkík

(B) rðÄkLk {tz¤kuLke [qtxýeyku ytøkuLke òuøkðkE fhðkLke MktMkËLke Mk¥kk

(C) [qtxýe rð»kÞf çkkçkík{kt LÞkÞk÷ÞLke ËhBÞkLkøkehe WÃkh «ríkçktÄ

(D) Mkt½Lke hkßÞ¼k»kk

045. Lke[uLkk ðkõÞku [fkMkku.

1. ÷kufMkuðk ykÞkuøk{kt MkÇÞ ÃkkuíkkLkku nkuÆku Mkt¼k¤u íÞkhÚke 6 ð»ko MkwÄe [k÷w hne þfu Au.

2. Mkt½ Mkuðk ykÞkuøk{kt ÃkktMkX (65) ð»koLke W{h yÚkðk A ð»koLke {ÞkoËk nkuÆku Ähkððk Lk¬e ÚkÞu÷ Au.

3. hkßÞ ykÞkuøkLkk rfMMkk{kt {n¥k{ ðÞ {ÞkoËk çkkMkX (62) ð»koLke Au.

(A) 1, 2 yLku 3 çkÄks ÞkuøÞ Au. (B) 1 yLku 2 ÞkuøÞ Au.

(C) 2 yLku 3 ÞkuøÞ Au. (D) 1 yLku 3 ÞkuøÞ Au.

046. ¼khíkLkk MktrðÄkLk{kt “hkßÞ”{kt fE fE çkkçkíkkuLkku Mk{kðuþ ÚkkÞ Au ?

1. ¼khík Mkhfkh yLku MktMkË

2. Ëhuf hkßÞLke Mkhfkh yLku rðÄkLk {tz¤

3. ¼khíkLkk hkßÞûkuºkLkk yÚkðk ¼khík MkhfkhLkk rLkÞtºký nuX¤Lkk MÚkkrLkf Mk¥kk {tz¤ku

4. ¼khíkLkk hk»xÙÃkrík

(A) 1, 2, 3 yLku 4 (B) 1, 2 yLku 3

(C) 1, 2 yLku 4 (D) 2, 3 yLku 4
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047. økwshkík hkßÞ{ktÚke hkßÞ Mk¼kLkk fux÷k MkÇÞ©eyku [qtxðk{kt ykðu Au ?

(A) 10 (B) 11

(C) 12 (D) 13

048. ¼khíkLkk çktÄkhýLkk yLkwåAuË Lkt. 165 {kt fE çkkçkíkLke òuøkðkE fhðk{kt ykðu÷e Au ?

(A) hkßÞLke fkhkuçkkhe Mk¥kk (B) hkßÞÃkk÷Lke rLk{ýqf

(C) hkßÞÃkk÷Lkk nkuÆkLke þhíkku (D) hkßÞLkk yuzðkufuxLke rLk{ýqf

049. ÞkuøÞ òuzeyku òuzku.

¼khíkLkk çktÄkhý yLkwåAuË rðøkík

1. 14 a. fk{Ëkhku {kxu rLkðkon ðuíkLk

2. 16 b. fkÞËk Mk{ûk Mk{kLkíkk

3. 40 c. ònuh Lkkufhe{kt Mk{kLk íkf

4. 43 d. økúk{ Ãkt[kÞíkkuLke h[Lkk

(A) 1 - a, 2 - b, 3 - c, 4 - d (B) 1 - d, 2 - a, 3 - b, 4 - c

(C) 1 - b, 2 - c, 3 - d, 4 - a (D) 1 - c, 2 - d, 3 - a, 4 - b

050. Lke[uLkk ðkõÞku [fkMkku.

1. ¼khíkLkk MktrðÄkLk{kt 43{ku yLku 87{ku MkwÄkhku fheLku MktrðÄkLk{kt {q¤¼qík Vhòu Ëk¾÷ fhðk{kt ykðu÷ Au.

2. ¼khíkLkk MktrðÄkLkLke f÷{ 52-f {kt {q¤¼qík VhòuLke [[ko fhðk{kt ykðu÷ Au.

(A) {kºk 1 ÞkuøÞ Au. (B) {kºk 2 ÞkuøÞ Au.

(C) 1 yLku 2 çktLku ÞkuøÞ LkÚke. (D) 1 yLku 2 çktLku ÞkuøÞ Au.

051. Ëhuf ðMíke økýíkhe ÃkAe hkßÞkuLku Vk¤u ykðíke ÷kufMk¼kLke çkuXfkuLke Vuh økkuXðýe fhðkLke òuøkðkE çktÄkhýLkk fÞk
yLkwåAuË{kt fhðk{kt ykðu÷e Au ?

(A) 80 (B) 81

(C) 82 (D) 83

052. ¼khíkLkk MktrðÄkLk{kt “hkßÞÃkk÷” ytøkuLke òuøkðkEyku fÞk ¼køk/«fhý{kt fhðk{kt ykðu÷e Au ?

(A) ¼køk-4 «fhý-6 (B) ¼køk-5 «fhý-4

(C) ¼køk-6 «fhý-2 (D) ¼køk-7 «fhý-1

053. Lkerík ykÞkuøk îkhk 30 òLÞwykhe 2023 Lkk hkus “Research in Agroecology” ¿kkLk ykËkLk «ËkLkLkku fkÞo¢{ fÞk
ËuþLkk MknÞkuøk{kt ykÞkuSík fhðk{kt ykðu÷ níkku ?

(A) EÍhkÞu÷ (B) MðezLk

(C) zuLk{kfo (D) s{oLk

054. 26 LkðuBçkh 1949 Lkk hkus ¼khíkLkwt MktrðÄkLk fkuLku yŠÃkík fhðk{kt ykðu÷ níkwt ?

(A) “¼khíkLke «òLku” (B) “÷kuf Mk¼kLku”

(C) “hkßÞ Mk¼kLku” (D) “y{Lku ÃkkuíkkLku”
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055. yuf fkh¾kLkkLkk 60 {òwhkuLkku Mkhuhkþ ðuíkLk Yk. 2000 Au. òu {uLkushLkku Ãkøkkh økýðk{kt ykðu íkku çkÄkLkwt Mkhuhkþ ðuíkLk
Yk. 20800 ÚkkÞ Au. yk Mktòuøkku{kt {uLkushLkku Ãkøkkh fux÷ku nþu ?

(A) 68,800 (B) 20,800

(C) 40,800 (D) 80,800

056. yuf MktÏÞkLkk 8 økýk{ktÚke Ãkkt[ (5) çkkË fhíkk su Ãkrhýk{ {¤u Au. íku MktÏÞkLkk Ãkkt[ (5) økýk fhíkk 4 ðÄkhu Au. íkku íku
MktÏÞk fE nþu ?

(A) 2 (B) 3

(C) 4 (D) 5

057. 3 ÃkuLk yLku 4 ÃkuÂLMk÷Lke rfB{ík Yk. 23 Au yLku 2 ÃkuLk yLku 3 ÃkuÂLMk÷Lke rfB{ík Yk. 16 Au. íkku 6 ÃkuLk yLku 12 ÃkuÂLMk÷Lke
rfB{ík fux÷e nþu ?

(A) Yk. 45 (B) Yk. 48

(C) Yk. 54 (D) Yk. 60

058. 20 ÷exh r{©ý{kt ËwÄ yLku ÃkkýeLkwt «{ký 3 : 1 Au. òu Lkðw «{ký 4 : 1 hk¾ðwt nkuÞ íkku ðÄkhkLkwt fux÷wt ËwÄ W{uhðwt
Ãkzþu ?

(A) 10 ÷exh (B) 8 ÷exh

(C) 6 ÷exh (D) 5 ÷exh

059. 24 {sqhku Ëh hkus 6 f÷kf fk{ fheLku 18 rËðMk{kt fk{ Ãkqýo fhu Au. òu Ëh hkus 4 f÷kf fk{ fheLku 12 rËðMk{kt fk{
Ãkqýo fhðkt fux÷k {sqhku sYhe Au ?

(A) 54 (B) 60

(C) 64 (D) 72

060. yuf Lk¤ xktfeLku 30 r{rLkx{kt çkeòu Lk¤ 20 r{rLkx{kt yLku ºkeòu Lk¤ 60 r{rLkx{kt xktfe ¼he þfu Au. òu ºkýuÞ Lk¤ [k÷w
fhðk{kt ykðu íkku xktfe fux÷k r{rLkx{kt ¼hkE sþu ?

(A) 5 r{rLkx (B) 10 r{rLkx

(C) 15 r{rLkx (D) 20 r{rLkx

061. yuf ðMíkw Yk. 240 {kt ðu[íkk 20% ¾kux òÞ Au íkku 20% LkVku {u¤ððk yk ðMíkw fux÷k{kt ðu[ðe òuEyu ?

(A) Yk. 300 (B) Yk. 360

(C) Yk. 420 (D) Yk. 240

062. yuf hf{Lkwt 5% ÷u¾u 3 ð»ko yLku 4 ð»koLkk ÔÞksLkku íkVkðík Yk. 420 ÚkkÞ Au. yk Mktòuøkku{kt {wÆ÷ fux÷k Yk. Lkwt nþu ?

(A) Yk. 8000 (B) Yk. 8400

(C) Yk. 9200 (D) Yk. 9600

063. 3 464 81 Lkwt {wÕÞ fux÷wt nþu ?

(A) 1 (B) 2

(C) 3 (D) 4
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064. yuf çkkuõMk{kt Yk. 180 Lkk Yk. 1, 50 ÃkiMkk yLku 25 ÃkiMkkLkk 2 : 3 : 4 Lkk «{ký{kt Mke¬kyku Au. yk Mktòuøkku{kt
50 ÃkiMkkLkk fux÷k rMk¬k nþu ?

(A) 80 (B) 100
(C) 120 (D) 160

065. 140 {exh ÷tçkkE ðk¤e 60 rf{e/f÷kfLke ÍzÃkÚke síke xÙuLk Mkk{uÚke ykðíke 48 rf{e/f÷kfLke ÍzÃke xÙuLk fu su 160
{exh ÷ktçke Au íkuLku fux÷k Mk{Þ{kt ÃkMkkh fhþu ?

(A) 6 Mkuftz (B) 10 Mkuftz

(C) 16 Mkuftz (D) 25 Mkuftz

066. 2, 6, 18, 54, ........, ¾k÷e søÞk Ãkwhku.

(A) 108 (B) 148
(C) 162 (D) 216

067. ELFA, GLHA, ILJA, ........, MLNA ¾k÷e søÞk Ãkwhku.

(A) OLPA (B) KLMA
(C) LLMA (D) KLLA

068. 10 {exh ÷ktçkk, 8 {exh Ãknku¤k Äkçkk{kt 6 Mku.{e. ðhMkkËLkwt Ãkkýe ¼hkÞ Au. yk Mktòuøkku{kt Äkçkk{kt fux÷wt Ãkkýe
¼hkÞu÷ nþu ?

(A) 4,800 r÷xh (B) 4,800 rf÷ku r÷xh

(C) 4,800 {exh (D) 4,800 Mku.{e.

069. Ãkkt[ {exh ÷tçkkE ðk¤k [kuhMk fkÃkz{ktÚke 25 Mku.{e.Lkk fux÷k [kuhMk LkuÃkfeLk çkLkkðe þfkÞ ?

(A) 100 (B) 200
(C) 400 (D) 800

070. Lke[uLkk Ãkife fÞk hkuøkku, rðf]ríkyku «f]rík{kt yLkwðtrþf Au ? (diseases and disorders are genetic in nature)

1. zkÞuçkexeMk (Diabetes)

2. f÷h ç÷kELzLkuMk (Colour blindness)

3. yu[.ykÞ.ðe. (HIV)

4. ÷eðh yLku ÓËÞLkk hkuøkku (Liver and heart diseases)

(A) 1 yLku 2 (B) 1, 2 yLku 3

(C) 2 yLku 3 (D) 1, 2, 3, 4

071. fuMk÷h rMkLzÙku{ (fuMk÷h Mkn÷þý) fE çkkçkík MkkÚku Mktf¤kÞu÷ Au ?

(A) ç÷uf nku÷ (Black Holes) (B) MÃkuMk stf (Space Junk)

(C) {exeÞkìh þkðh (Meteor Shower) (D) økúuðexuþLk÷ ÷uLMkªøk (Gravitational lensing)

072. CART-Cell ÚkuhÃke fu su nk÷{kt ½ýe [[ko{kt Au íku fÞk hkuøk Mkk{u hûký ykÃkðk / hkuøkLkwt «{ký ½xkzðk WÃkÞkuøk{kt
÷uðk{kt ykðu Au ?

(A) fkuðez-19 (Covid-19) (B) nuÃkuMkeMx-B (Hepatitis-B)

(C) ûkÞ (Tuberculosis) (D) fuLMkh (Cancer)
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073. Lke[uLkk Ãkife fkuLkwt Wå[ík{ fu÷herVf {wÕÞ hnu÷ Au ? (Highest calorific value)

(A) fku÷Mkku (Coal) (B) ÃkuxÙku÷ (Petrol)

(C) Mke.yuLk.S. (CNG) (D) nkÞzÙkusLk (Hydrogen)

074. zuz ÍkuLk (Dead Zones) ytøku Lke[uLkk ðkõÞku [fkMkku.

1. yk rðMíkkhLkk Ãkkýe{kt «kýðkÞw ¾wçks «{ký{kt nkuÞ Au.

2. {kLkð «ð]r¥kykuÚke yrík»kÞ Ãkku»kf «Ëq»kýLku fkhýu yk çkkçkík WËT¼ðu Au.

3. õ÷kÞ{uxef VuhVkhLkk fkhýu ykLkku rðMíkkh ðÄe þfu Au.

(A) 1 yLku 2 (B) 2 yLku 3

(C) 1 yLku 3 (D) 1, 2 yLku 3

075. W»ýfrxçktÄeÞ ¼usðk¤k støk÷ku (Tropical moist forest) ¼khík{kt fÞk rðMíkkh{kt ykðu÷ Au ?

1. Ãkrù{ ½kxLkku Ãkrù{ Zku¤kð

2. ytËk{kLk yLku rLkfkuçkkh xkÃkwyku

3. ¼khíkLkku W¥kh ÃkqðeoÞ «Ëuþ

(A) 1 yLku 2 (B) 2 yLku 3

(C) 1 yLku 3 (D) 1, 2 yLku 3

076. W»ý frxçktÄeÞ ðhMkkËe støk÷ku (Tropical rain forest) {wÏÞíðu ¼khík{kt õÞkt ð]ûkku òuðk {¤u Au ?

1. Mku{w÷ (Semul)

2. EçkkuLke (Ebony)

3. ¼khíkeÞ ÷kuhu÷ (Indian Laurel)

4. yk{¤k (Amla)

(A) 1, 2 yLku 3 (B) 2 yLku 3

(C) 2, 3 yLku 4 (D) 1, 2, 3 yLku 4

077. zuMkeçk÷ (Decibel) yu þkLke økýºke fhðkLkwt yuf{ Au ?

(A) «fkþLke økrík {kÃkðk (B) hurzÞku ðuðLke r£õðLMke {kÃkðk

(C) yðksLke íkeðúíkk {kÃkðk (D) økh{eLkwt «{ký òuðk

078. Mkk{kLÞ heíku yuf nkuMko Ãkkðh (Horse Power) yux÷u...

(A) 746 ðkìx (Watts) (B) 764 ðkìx (Watts)

(C) 674 ðkìx (Watts) (D) 647 ðkìx (Watts)

079. {eMkkìLMk (Mesons) Mkk{kLÞ heíku þk{k òuðk {¤u Au ?

(A) ÷uÍh çke{ (Laser Beam) (B) X-huÍ (X-Rays)

(C) økk{k huÍ (Gamma rays) (D) fkìM{ef huÍ (Cosmic rays)

080. LÞwÂõ÷Þh rð¼ksLk fkuLke yMkhÚke ÚkkÞ Au ? (Nuclear fission is caused by the impect of)

(A) LÞwxÙkuLk (Neutron) (B) «kuxkuLk (Proton)

(C) zexÙkuLk (Deuteron) (D) E÷uõxÙkuLk (Electron)
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081. Lke[uLkk Ãkife fkuLku Mkk{kLÞ ¼k»kk{kt Ãkkì÷u{ez (Polyamide) fnuðk{kt ykðu Au?

(A) xuhu÷eLk (Terylene) (B) LkkÞ÷kìLk (Nylon)

(C) huÞkìLk (Rayon) (D) ykuh÷kìLk (Orlon)

082. Lke[uLkk Ãkife fÞwt «kuxeLk (Protein) Au ?

(A) Lku[h÷ hççkh (Natural rubber) (B) Mxkì[o (Starch)

(C) MkuÕÞw÷Mk (Cellulose) (D) WÃkhkuõík Ãkife yufÃký Lknª

083. Lke[uLkk Ãkife fÞk Ëuþ îkhk “rzSx÷ rð[híke ÔÞqnh[Lkk” (Digital Nomad Strategy) Lke þYykík fhu÷ Au ?

(A) Ãkku÷uLz (B) fuLkuzk

(C) ykìMxÙeÞk (D) òÃkkLk

084. Lke[uLkk Ãkife fÞk Ëuþu íkuLkk ÷kufkuLke ÃkhtÃkhkøkík W{h økýðkLke ÃkæÄíke Akuze ËeÄu÷ Au ?

(A) MkkWÚk fkuheÞk (B) MÃkuLk

(C) LkkuÚko fkuheÞk (D) MðexTÍh ÷uLz

085. yurþÞLk fçkœe [uÂBÃkÞrþÃk 2023{kt VkÞLk÷{kt «ðuþðk {kxu ¼khíku fÞk ËuþLke xe{Lku nhkðu÷ níke ?

(A) Ehkf (B) ELzkuLkuþeÞk

(C) EÍhkÞ÷ (D) EhkLk

086. ¼khík{kt “íkhtøk fðkÞík”Lkwt ykÞkusLk fÞk Ë¤ (Force) îkhk fhðk{kt ykðu÷ Au ?

(A) fYz f{kLzku VkuMko (Grud Commando Force)

(B) ELzeÞLk yuÞh VkuMko (Indian Air Force)

(C) ELzeÞLk Lkuðe (Indian Navy)

(D) ELzeÞLk fkuMx økkzo (Indian Cost Guard)

087. rðï{kt ÷½wøkún (Asteroid Day) õÞkhu Wsððk{kt ykðu Au ?

(A) 28 òwLk (B) 29 òwLk

(C) 30 òwLk (D) 1 ykìøkü

088. rËÕneLke “ykihtøkÍuçk ÷uLk”Lkwt Lkk{ çkË÷eLku íkuLku ¼khíkLkk fÞk Ãkqðo hk»xÙÃkríkLkwt Lkk{ ykÃkðk{kt ykðu÷ Au ?

(A) ©e fu.ykh. LkkhkÞý (B) zkì. yu.Ãke.su.yçËw÷ f÷k{

(C) ¿kkLke Íi÷ Mkª½ (D) ©e{íke «rík¼k Ãkkxe÷

089. ¼khíkLkk fÞk ykËhýeÞ zkìõxhLku hk»xÙeÞ zkìõxh rËðMk Mk{ŠÃkík Au ?

(A) zkì. rðãkLkÚkLk r¢»ý{qŠík (B) zkì. rçkÄLk [tÿ hkìÞ

(C) zkì. y{íkk «fkþ {{íkkLke (D) zkì. hk{ {Lkkunh ÷kuneÞk

090. WEF Lkk yuLkSo xÙkÂLÍþLk #zuõMk (WEF Energy Transition Index){kt ¼khík nk÷{kt ònuh ÚkÞu÷ Ãkrhýk{ku{kt
fÞk MÚkkLk WÃkh Au ?

(A) 65{kt MÚkkLk Ãkh Au. (B) 66{kt MÚkkLk Ãkh Au.

(C) 67{kt MÚkkLk Ãkh Au. (D) 68{kt MÚkkLk Ãkh Au.
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091. ðirïf MÃkÄkoí{fíkk Mkq[fktf 2023 (Global Competitiveness Index 2023){kt ¼khík fÞk MÚkkLk WÃkh níkw ?

(A) 32{w MÚkkLk (B) 36{w MÚkkLk

(C) 40{w MÚkkLk (D) 43{w MÚkkLk

092. nkìfe EÂLzÞk îkhk swrLkÞh {rn÷k hk»xÙeÞ xe{Lkk {wÏÞ fku[ íkhe¾u fkuLke rLk{ýqtf fhðk{kt ykðe Au ?

(A) ÷eÞku ÃkeLxku (B) íkw»kkh ¾ktzfh

(C) MkhËkh ®Mkøk (D) rfþLk ÷k÷

093. nk÷{kt W¥kh «Ëuþ{ktÚke fux÷e ðMíkwykuLku ßÞkuøkúkVef÷ ELzefuþLk (Geographical Indication) {¤u÷ Au ?

(A) Mkkík (Seven) (B) ykX (Eight)

(C) Lkð (Nine) (D) ËMk (Ten)

094. ¼khíkLku MÃkurþÞ÷ ykìr÷ÂBÃkf 2023 (Special Olympics 2023) fux÷k {uz÷ {¤u÷ Au ?

(A) 193 (B) 196

(C) 203 (D) 216

095. Ä nur{Mk VuÂMxð÷ (The Hemis Festival) fÞk ËuðíkkLke sL{sÞtríkLkk MkL{kLk{kt Wsððk{kt ykðu Au ?

(A) ÷kuzo ÃkÈMk{¼ð (Lord Padmasambhava) (B) ÷kuzo søkLLkkÚk (Lord Jagannath)

(C) økkuzuMk íkuhk (Goddess Tera) (D) ÷kuzo þeðk (Lord Shiva)

096. ÞkuLkkExuz LkuþLMk ykìVeMk Vkìh ykWxh MÃkuMk yVuMko (United Nations Office for Outer Space Affairs)Lkk
zkÞhuõxh íkhe¾u fkuLke rLkÞwÂõík fhðk{kt ykðu÷e Au ?

(A) ykhíke nku÷k {Lke (Arati Holla Maini) (B) fuÚkheLk fu÷ðeLk (Katherine Calvin)

(C) S{økúeLk (D) fk÷o MkøkLk (Carl Sagan)

097. rðõxh 6000 (Victor 6000) suýu xkÞxLk Mkçk{ŠMkçk÷Lkku çk[kð fk{økehe{kt ¼køk ÷eÄku níkku íku fÞk Ëuþ{kt
rðfMkkððk{kt ykðu÷ níkku ?

(A) hþeÞk (B) [eLk

(C) økúeMk (D) £kLMk

098. rðïLkk MkkiÚke {kuxk þnuhe MðåAíkk Mkðuoûký-2023Lke fÞk MktMfhý (edition)Lke þYykík ÚkÞu÷ Au ?

(A) 8{k (B) 9{k

(C) 10{k (D) 11{k

099. ÃkkuíkkLkk ½hu÷w ËuðkLkw (Domestic Debt)Lkwt ÃkwLkøkoXLk fhðk fÞk Ëuþu íkuLke çkUfku, LkkýkfeÞ ûkuºkLku Ãkkt[ rËðMk MkwÄe çktÄ
hk¾u÷ Au ?

(A) ÃkkrfMíkkLk (B) ©e÷tfk

(C) økúeMk (D) çkktø÷kËuþ

100. yuÞhÃkkuxo {wMkkVhku {kxu “BRL ÃkÕMk yuÃk” (BRL Pulse App) fÞk yuÞhÃkkuxo îkhk þY fhu÷ Au ?

(A) {wtçkE yuÞhÃkkuxo (B) [uLLkkE yuÞhÃkkuxo

(C) çkUøk÷wY ELxhLkuþLk÷ yuÞhÃkkuxo (D) [tËeøkZ yuÞhÃkkuxo
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101. Ceramic materials are used in many engineering applications, they have several notably

properties. Find out which of property is not related to ceramic materials.

(A) brittle (B) ductile

(C) low fracture toughness (D) low electrical

102. Silicon is the most useful semiconductor for electronic devices. Silicon conductivity can be

tailored by doping from intrinsic to n-type of p-type. If silicon is doped with a trivalent impurity,

it will.

(A) increase the number of electrons and hole

(B) shift the fermi energy level toward conduction band

(C) shift the fermi energy level toward valence band

(D) increase the mobility of the charge carriers

103. Identify the Ferrous materials from the following list, only one option is correct.

(A) Alumina, Zirconia and Zinc (B) Cast Iron, Steel and Alloys Steel

(C) Silica, Copper and Brass (D) Nickel, Aluminum, and Titanium

104. The lubricants are used for various reasons, select which one is not a valid reason for use of

lubricants.

(A) Lubricants prevent the moving part from overheating.

(B) Reduces noise or friction among moving parts.

(C) Lubricants enhance the strength of welded joints.

(D) Protect from wear, rusting, and corrosion.

105. How diamond is different than graphite, find the right answer.

(A) Diamond is stronger than single sheet of graphite

(B) Diamond has SP3 hybridization while graphite has SP2 hybridization

(C) Diamond has SP2 hybridization while graphite has SP3 hybridization

(D) Both have SP hybridization and covalent bonding

106. First man made fiber is -

(A) Nylon (B) Polyesters

(C) Rayon (D) Polystyrene

107. Polymers are ones that contain many chemical bonded parts that themselves are bonded together

to form a solid.

The abbreviations of a few commonly known polymers are listed below, identify which is

incorrect.

(A) PVC : Polyvinyl Chloride (B) SAN : Styrene-acrylonitride

(C) PMMA : Polymethyl methacrylate (D) PTFE: Polytetrafluoroethylene

108. Fiber tenacity or tensile strength is the ability of a textile to withstand a pulling force. The fiber

tenacity depends upon several parameters, find out which parameter does not affect the tenacity

of fiber.

(A) surface roughness of polymer (B) length of its polymers

(C) degree of polymer orientation (D) strength and types of inter-polymer forces of

attraction
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109. Select the ceramic materials which are normally used as good insulators for high voltage/current

applications.

(A) nicket aluminates, chromium carbide, tungsten carbide

(B) alumina, porcelain, fused silica glass

(C) silicon carbide, silicon nitride, boron carbide

(D) None of the above

110. Toughness of a materials in a mechanical term can be described as

(A) Ability of a material to release energy during fracture and can be measured as energy per

unit volume.

(B) Ability of a material to absorb energy up to fracture and can be measured as energy per unit

volume.

(C) Ability of a material to absorb energy when it is deformed elastically and can be measured

as energy per unit volume.

(D) It is measure of the degree of plastic deformation that has been sustained at fracture.

111. Specific heat is defined as

(A) The amount of heat required to raise the temperature of a unit volume of material by 1 degree

(B) The amount of heat transfer by a unit mass under constant Temperature

(C) The amount of heat required to raise the temperature of a unit mass of material by 1 degree

(D) None of the above

112. Units of which of the pairs are same

(A) Enthalpy (h) and Internal Energy (u) (B) Pressure (P) and Enthalpy (h)

(C) Enthalpy (h) and Entropy (s) (D) Temperature (T) and Entropy (s)

113. A liquid is boiling in an airtight vessel. Using an exhaust tube the vapour is pumped out at a faster

rate than it is produced. What will happen to the liquid?

(A) Temperature will go down but boiling will continue

(B) Temperature will rise and boiling will continue

(C) Boiling will stop

(D) Whatever vapour inside will condense

114. It is impossible in any way to diminish the entropy of a system of bodies without thereby leaving

behind changes in other bodies – Statement by

(A) Plancks (B) Lewis

(C) Clausius (D) Fourier

115. A carnot engine operates between 300 K and 600 K. If the entropy change during heat addition

is 1 kJ/K, the work produced by the engine

(A) 100 kJ (B) 200kJ

(C) 300kJ (D) 400kJ

116. Example of the application of zeroth Law of thermodynamics is

(A) Radiation Pyrometer (B) Thermocouple

(C) Mercury in Glass Thermometer (D) None of the above

117. The conversion from Celsius scale to Fahrenheit scale is

(A) °C = 273.15 + °F (B) °C = 4/9(°F – 23)

(C) °C = 1.8(°F) – 32 (D) °F = 1.8(°C) + 32
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118. IN cycle 1  2  3  4, area bounded by 1234 is

(A) Q added to refrigerant (B) Q rejected from refrigerant

(C) Work done by compressor (D) Net heat transfer from refrigerant

119. “The total pressure of a mixture of gases at given volume and temperature, is equal to the sum of

the partial pressures of its constituents” is

(A) Avogadro’s Law (B) Dalton’s Law

(C) Gibb’s Law (D) Pascal’s Law

120. Barometer is used in the measurement of

(A) Piezometeric Pressure (B) Atmospheric Pressure

(C) Gauge Pressure (D) Total pressure of wind

121. A Platinum coil has a resistance of 3.146Ω at 40°C and 3.767Ω at 100°C. The resistance at 0°C is

(A) 1.52Ω (B) 2.24Ω

(C) 2.73Ω (D) 3.16Ω

122. Which statement is true for Ideal constant Voltage source?

(A) It has zero internal resistance.

(B) It has infinite internal resistance.

(C) Internal voltage drop is finite.

(D) Dry cell is example of Ideal constant Voltage source.

123. What is the equivalent resistance between point A and B of the circuit shown below:

(A) 0.4 R (B) 1.4 R

(C) 2.4 R (D) 3.4 R
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124. Which Equipment and Procedural Strategies is not followed for Protection from Shock type

Electrical Hazards?

(A) Rubber insulating equipment including gloves with leather protectors, sleeves, mats,

blankets, line hose, and covers.

(B) Insulated tools when working near electrical conductors.

(C) Make certain that all nonenergized equipment is properly grounded.

(D) Energize all circuits and conductors in the immediate work area.

125. The internal resistance of normal human body is approximately

(A) 10Ω (B) 100Ω

(C) 300Ω (D) 1MΩ

126. Which type of earthing is suitable for areas which are sandy in nature ?

(A) Strip Earthing (B) Rod Earthing

(C) Pipe Earthing (D) Plate Earthing

127. Supplier’s fuse, which is provided in domestic wiring system is

(A) After the energy meter (B) Before the energy meter

(C) Before the distribution board (D) After the main switch

128. What is the name of wiring if one lamp is controlled from two different places?

(A) Go down wiring (B) Tunnel wiring

(C) Staircase wiring (D) Hostel wiring

129. The illumination required for normal reading is around

(A) 480-520 lumens/m2 (B) 200 - 100 lumens/m2

(C) 80 - 60 lumens/m2 (D) 40 - 20 lumens/m2

130. An ideal circuit breaker should offer

(A) Zero & infinite impedance before & after interruption respectively

(B) Infinity & zero impedance before & after interruption respectively

(C) Equal impedance before & after interruption

(D) None of the above

131. Which of the following is considered an unsolicited commercial email?

(A) Virus (B) Spam

(C) Malware (D) Phishing

132. Program designed to perform a specific task is known as

(A) Application Software (B) System Software

(C) Utility Programs (D) None of the above

133. Which of the following is used to create a Web page?

(A) HTTP (B) WWW

(C) HTML (D) None of the above

134. Which is not a type of Secondary memory?

(A) Solid State Drive (B) Hard Disk

(C) RAM (D) USB Pen Drive
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135. A Compiler is

(A) A program which translates from one high-level language to machine language

(B) A combination of computer hardware

(C) A program which translates assembly language to machine language

(D) A program which translates machine language to high-level language

136. A number system that has 8 different symbols to represent any quantity is known as

(A) Decimal System (B) Binary System

(C) Hexadecimal System (D) None of the above

137. Which symbol in a flowchart represents a decision or a conditional statement?

(A) Oval (B) Rectangle

(C) Parallelogram (D) Diamond

138. Which of the following is true about algorithms?

(A) They are specific to a particular programming language.

(B) They are used only for mathematical calculations.

(C) They are primarily used for user interface design.

(D) They must have a finite number of steps.

139. Which of the following is NOT a primary function of an operating system?

(A) Memory Management (B) File Management

(C) Data Analysis (D) Process Management

140. What does the term "URL" stand for?

(A) Universal Resource Locator (B) Uniform Resource Language

(C) Unified Routing Language (D) User Requirements List

141. The process of defining goals, establishing strategy, and developing plans to coordinate activities

is called

(A) Organizing (B) Planning

(C) Controlling (D) Leading

142. The Fiscal Responsibility and Budget Management Act was passed to keep check on?

(A) Fiscal deficit only (B) Revenue deficit only

(C) Both fiscal and revenue deficit only (D) None of the above

143. The practice of management was written by

(A) Louis Allan (B) Terry

(C) Max Weber (D) None of the above

144. The theory is a style of management that emphasizes hierarchy, specialized roles and single

leadership for optimized efficiency in the workplace.:

(A) Contingency view (B) Systems view

(C) Operational viewpoint (D) Classical view

145. According to the principles of Henry Fayol, remuneration of personnel refers to:

(A) Distribution of profits to shareholders

(B) Establishing reporting relationships

(C) Compensation in both monetary and non-monetary terms

(D) Implementation of operational plans
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146. The Hawthorne studies were significant in management history because they:

(A) Focused on productivity measures

(B) Introduced time and motion studies

(C) Emphasized the human relations aspect of managing

(D) Developed the scientific management theory

147. A matrix organization typically violates which classical management principle?

(A) Scalar chain (B) Division of work

(C) Unity of direction (D) Unity of command

148. The critics of the concept of management by objectives (MBO) include:

(A) MBO effort perpetuates and intensifies hostility, resentment, and distrust between a manager

and subordinates

(B) it is just industrial engineering with a new name, applied to higher managerial levels, and

with the same resistances intact.

(C) both (A) and (B)

(D) MBO is very robust and beyond critique

149. The scholars and practitioners who advocate administrative and managerial reforms in

organizations, base their arguments to move beyond bureaucratic model of organization on

which of the basis mentioned below?

(A) The theory is not applicable to all forms of organizations

(B) The theory was useful in past and to manage organizations of future, new theories are

required which foster creativity and innovation in performing tasks

(C) The theory was plagiarised and thus it should be abandoned

(D) No such concerns are valid

150. The contingency approach to management is based on which of the following principles?

(A) Managers should make every attempt to strive for organizational efficiency

(B) The correct managerial action depends on the particular parameters of each situation

(C) There is only one best way to manage

(D) Managers must strictly enforce work rules and procedures

151. Which of these statements is true about the sociotechnical systems theory?

(A) It suggests that organizations are effective when their employees have the right tools,

training, and knowledge to make products and services that are valued by customers.

(B) It postulates that organizations are minimally effective systems that conserve energy by

maintaining their structure over time.

(C) It contends that organizations are physical entities that transform inputs of raw materials

into products and services.

(D) It argues that organizations are social inventions for accomplishing common goals through

group effort.

152. Which theory postulates that a manager's choice of action depends on the complex array of

variables present in each situation?

(A) The scientific management theory (B) The human relations theory

(C) The contingency theory (D) The systems theory

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BEQ - MASTER ] 18 [Contd. 

153. What is the main goal of Lean Manufacturing?

(A) Increase in inventory (B) Elimination of waste

(C) Increase in manpower (D) Decreased productivity

154. The Pareto principle is given by?

(A) Lorenzo Pareto (B) Alfred Pareto

(C) Vilfredo Pareto (D) None of the above

155. What is the primary/main focus of Total Quality Management (TQM)?

(A) Financial performance (B) Customer satisfaction

(C) Supplier relations (D) Employee welfare

156. _______ is a popular Lean workflow management method for defining, managing, and

improving services that deliver knowledge work?

(A) Backflush (B) Consignment

(C) Kanban (D) Sequencing

157. An operations manager is deciding on the layout of a new production facility. What type of layout

is best suited for producing a wide variety of non-standardized products?

(A) Product layout (B) Process layout

(C) Fixed-position layout (D) Cellular layout

158. A factory currently has an inventory holding cost of 20% per year. If the factory decides to

implement a JIT inventory system, how will this affect the holding cost?

(A) The holding cost will increase

(B) The holding cost will decrease

(C) The holding cost will remain the same

(D) Cannot be determined without additional information

159. In a supply chain, the bullwhip effect refers to:

(A) A disruption in the supply of raw materials

(B) The amplification of demand fluctuations

(C) The effect of inflation on supply chain costs

(D) The impact of transportation delays

160. What is the primary objective of the Six Sigma methodology?

(A) Increase product variety (B) Reduce defects and variation

(C) Improve employee morale (D) Boost revenues

161. The method of Burning Municipal Solid Waste in a Properly Designed Furnace Under Operating

Conditions and Suitable Temperature is called?

(A) Landfill research (B) Recycling

(C) Vermicomposting (D) Incineration

162. The economic production quantity (EPQ) model differs from the economic order quantity (EOQ)

model in that the EPQ model assumes:

(A) Instantaneous delivery of orders

(B) Constant demand rate

(C) Production and usage occur simultaneously

(D) No shortages are allowed
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163. In project management, the critical path of a project network is the:

(A) Shortest time path through the network

(B) Longest time path through the network

(C) Cheapest path through the network

(D) Most resource-intensive path through the network

164. The two-bin system is a type of:

(A) Production planning system (B) Quality control system

(C) Inventory control system (D) Facility layout system

165. There are concerns about both _______ and _______ types of economic system. Therefore, many

scholars appreciate the foresightedness of Bharatiya leadership which adopted the _______

system.

(A) Capitalism, Socialism, Mixed Economic (B) Mixed Economic, Capitalism, Socialism

(C) Capitalism, Socialism, Communism (D) No such systems are in existence

166. In the initial years of India’s planned development strategy (post-independence) were

characterised by a _______ fiscal policy.

(A) expansionary

(B) conservative

(C) liberal

(D) no such approach was followed, it was impromptu decision model

167. Which of following statement is true with respect to economic policy in initial era post-

independence in India: (choose the most appropriate option)

(A) The tax system was geared to transfer resources from the private sector to fund the large

public sector driven industrialization process and also cover social welfare schemes

(B) Government was aggressively pushing towards LPG reforms

(C) Government wanted private sector to play a major role in developing infrastructure

(D) The tax system was fairly liberal and provided incentive to corporate tax payers

168. Under the Sustainable Finance Working Group, India has been working on three priority areas

to advance the actions as envisaged in the G20 Sustainable Finance Roadmap. Which of the

following is not included in the priority areas?

(A) Mechanisms for mobilisation of timely and adequate resources for climate finance

(B) Enabling finance for the Sustainable Development Goals

(C) Withdrawing incentives for products which are not sustainable

(D) Capacity building of the ecosystem for financing toward sustainable development

169. The fiscal policy instrument that is used to manage aggregate demand and output is:

(A) Open market operations (B) Government expenditure

(C) Discount rate (D) Reserve requirements

170. Suppose a country is experiencing a high unemployment rate and low levels of inflation.

According to Keynesian economics, which policy should the government adopt to stimulate

economic growth?

(A) Decrease government spending (B) Increase taxes

(C) Decrease money supply (D) Increase government spending
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171. In the context of business environments, PESTEL analysis stands for:

(A) Political, Economic, Social, Technological, Environmental, Legal

(B) Political, Economic, Social, Technological, Ethical, Legal

(C) Political, Environmental, Social, Technological, Economic, Legal

(D) Political, Economic, Social, Theoretical, Environmental, Legal

172. The Credit Linked Capital Subsidy Scheme for Technology Upgradation focuses on Facilitating

Technology Upgradation of Micro and Small enterprises by:

(A) providing 15% capital subsidy (B) providing 20% capital subsidy

(C) providing 25% capital subsidy (D) None of the above

173. The theory which states that countries should specialize in producing goods for which they have

the lowest opportunity cost is:

(A) Theory of Absolute Advantage (B) Theory of Comparative Advantage

(C) Factor Proportions Theory (D) International Product Life Cycle Theory

174. If the economy is in recession, and the government decides to increase spending to stimulate the

economy, this is an example of:

(A) Contractionary fiscal policy (B) Expansionary fiscal policy

(C) Contractionary monetary policy (D) Expansionary monetary policy

175. Which of the following prominent social media company was involved in major business policy

issues with Government of India in past 5 years?

(A) Linkedin (B) Meta (Facebook)

(C) Twitter (D) No such concerns were witnessed

176. Which of the following two companies were involved in a major business deal in aviation sector

in recent past?

(A) Air India and Airbus

(B) Air India and Indigo

(C) Jet Airways and Airbus

(D) Aviation sector is going through tough phase, there was no such deal.

177. What does the term “working capital” mean in financial management?

(A) The capital used for purchasing fixed assets

(B) The capital required for day-to-day operations

(C) The capital required for setting up a new business

(D) The capital used for repaying long term loans

178. Which financial ratio measures the firm's ability to meet its long-term obligations?

(A) Liquidity Ratio (B) Leverage Ratio

(C) Efficiency Ratio (D) Profitability Ratio

179. The decision on how much of the profits should be retained in the business and how much to

distribute to shareholders is known as:

(A) Investment decision (B) Financing decision

(C) Dividend decision (D) Liquidity decision
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180. Net Present Value (NPV) and Internal Rate of Return (IRR) are techniques used in:

(A) Capital Budgeting (B) Working Capital Management

(C) Dividend Policy (D) Capital Structure

181. An investment project has a positive NPV. What can we say about the project's IRR compared

to the cost of capital?

(A) The IRR is greater than the cost of capital

(B) The IRR is less than the cost of capital

(C) The IRR is equal to the cost of capital

(D) The IRR and cost of capital have no relationship

182. Bank of India paid a sum of Rs. _______ to Government of India as dividend for _______

(A) 685 Crores, FY 2022 (B) 668 Crores, FY 2023

(C) 690 Crores, FY 2021 (D) None of the above

183. A company’s Beta is 1.2, the risk-free rate is 2%, and the market return is 8%. Using the CAPM

model, what is the expected return on the company's stock?

(A) 7.2% (B) 9.2%

(C) 10.2% (D) 7.6%

184. _______ started a programme named _______ to provide working capital to MSMEs.

(A) Reliance, e-Kuber (B) Adani, e-Lakshmi

(C) Tata Steel, Urja (D) Mahindra and Mahindra, Ujjwala

185. Higher Degree of Operating Leverage of a firm is an indication of

(A) High fluctuation in EBIT with small change in sales

(B) High fluctuation in EBIT with large change in sales

(C) No change in EBIT for any change in sales

(D) None of the above

186. According to the Trade-off Theory of Capital Structure:

(A) Firms have no optimal debt ratio

(B) Firms have an optimal debt ratio which is determined by a trade-off between tax benefits and

bankruptcy costs

(C) Firms prefer equity financing over debt financing

(D) Firms prefer internal financing over external financing

187. In a scenario where the firm's Return on Invested Capital (ROIC) is higher than its Weighted

Average Cost of Capital (WACC), it would result in:

(A) A decrease in the value of the firm (B) An increase in the value of the firm

(C) No change in the value of the firm (D) Depends on the market conditions

188. A firm has decided to pay out dividends to its shareholders. This could potentially imply all of

the following, EXCEPT:

(A) The firm is generating a healthy cash flow

(B) The firm does not have many profitable investment opportunities

(C) The firm wants to attract income-focused investors

(D) The firm wants to reinvest more in its own business
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189. What term refers to the actions taken by an organization to maintain a satisfactory working

relationship between management and employees to reduce the possibility of industrial disputes?

(A) Organizational Management (B) Personnel Management

(C) Industrial Relations (D) Corporate Management

190. Under the ________ both internal and external corporate governance mechanisms are intended

to induce managerial actions that maximize profit and shareholder value?

(A) Shareholder theory (B) Agency theory

(C) Profit maximization theory (D) None of the above

191. According to Agro Business Policy 2016, the government of Gujarat provides capital investment

subsidy for agro and food processing units upto _______ of eligible project cost subject to a

maximum of Rs. 50 lakhs for setting up / expansion and diversification / modernisation

(A) 10% (B) 18%

(C) 25 % (D) None of the above

192. What is the strategic role of Human Resources Management in an organization?

(A) To make the daily routine decisions

(B) To decide the company's marketing strategy

(C) To ensure compliance with financial regulations

(D) To align HR policies and practices with organizational goals

193. According to The ‘Factories Act, 1948’ a factory means

(A) any premises where ten or more workers are working, or were working on any day of the

preceding twelve months, and in any part of which a manufacturing process is being

carried on with the aid of power

(B) where twenty or more workers are working, or were working on any day of the preceding

twelve months, and in any part of which a manufacturing process is being carried on

without the aid of power,

(C) Both (A) and (B)

(D) Neither is true. The definition of factory has been made more fluid looking at industry 4.0

and industry 5.0

194. SHRAMEVA JAYATE is initiative of Government of India to _______

(A) Enhance harmony among workers

(B) Provide financial support to workers in need

(C) Provide skill development to workers

(D) No such initiative has been taken by government of India

195. The concept of ‘Triple Bottom Line’ (TBL) in corporate governance is _______ and is related to

_______

(A) Profit, People, Planet; sustainable development

(B) Profit, Process, Product; sustainable development

(C) People, Product, Process; Corporate Social Responsibility

(D) People, Planet, Process; Corporate Social Responsibility

196. The International Labour Organization (ILO) primarily functions to:

(A) Set international labor standards (B) Resolve labor disputes in member countries

(C) Regulate international trade (D) Promote employment opportunities globally
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197. The _______ report refers to Integrated Industrial Parks as self-contained island providing high-

quality infrastructural facilities

(A) Swaminathan committee (B) Rangarajan Committee

(C) Mr. K. V. Kamath Committee (D) Dr. Rakesh Mohan Committee

198. HRM is increasingly becoming a strategic function. What does this mean?

(A) HRM is focused on hiring, training, and retaining employees

(B) HRM is responsible for maintaining compliance with labor laws

(C) HRM is involved in setting the organization's strategic direction and aligning HR policies

and practices accordingly

(D) HRM is focused on maintaining the performance management system

199. The core idea behind the ‘best fit’ approach in strategic HRM is:

(A) HR strategy should fit with the external business environment

(B) HR strategy should fit with the internal resources of the firm

(C) HR strategy should fit with the firm's competitive strategy

(D) All of the above

200. A company’s talent management strategy is designed to:

(A) Identify key roles, develop a talent pool and facilitate succession planning

(B) Ensure compliance with labor laws and regulations

(C) Manage the performance appraisal system

(D) Oversee the recruitment and selection process

201. Which of the following is NOT a characteristic of an entrepreneur?

(A) Risk-taking (B) Innovative

(C) High need for achievement (D) Prefers being a follower

202. _______ is someone who starts and runs businesses over and over again, constantly looking for

the next big opportunity

(A) Serial entrepreneur (B) Sequential entrepreneur

(C) Recurrent entrepreneur (D) None of the above

203. Which of the following best describes the term ‘bootstrapping’ in entrepreneurship?

(A) Raising venture capital

(B) Funding a start-up through personal savings and operating revenue

(C) Taking a large amount of bank loans

(D) Selling equity shares of the business

204. What is the role of entrepreneurship in economic development?

(A) Entrepreneurship does not play a significant role in economic development

(B) Entrepreneurship creates jobs and promotes innovation, contributing to economic growth

(C) Entrepreneurship plays a role only in developed economies

(D) Entrepreneurship plays a role only in developing economies

205. The ‘Lean Startup’ methodology advocates:

(A) Starting a business with as much capital as possible

(B) Increasing the size of the team as quickly as possible

(C) Building a minimal viable product and iterating based on customer feedback

(D) Spending a lot of money on marketing and advertising at the early stages
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206. In entrepreneurship, the term ‘pivot’ means:

(A) To physically move the location of the business

(B) To significantly change the business strategy or model based on learnings from the market

(C) To maintain the status quo despite changes in the market

(D) To increase the size of the business exponentially

207. Which of the following entrepreneurial traits refers to the ability to recover quickly from

difficulties; toughness?

(A) Opportunism (B) Visionary

(C) Resilience (D) Adaptability

208. In the context of entrepreneurship, a ‘unicorn’ is:

(A) A mythical creature

(B) A start-up company valued at over $1 billion

(C) A successful female entrepreneur

(D) A business idea that is unique and has no competition

209. The primary difference between an ‘entrepreneur’ and an ‘intrapreneur’ is:

(A) An entrepreneur starts a new business, while an intrapreneur works on new ventures

within an existing organization

(B) An entrepreneur works within an existing organization, while an intrapreneur starts a new

business

(C) There is no difference between an entrepreneur and an intrapreneur

(D) An entrepreneur works on non-profit ventures, while an intrapreneur works on profit-

making ventures

210. Which of the following is NOT a part of the entrepreneurial environment?

(A) Political Environment (B) Social Environment

(C) Competitive Environment (D) Cosmic Environment

211. “One Village One Product” scheme in India was announced in

(A) Union Budget 2018

(B) Gujarat Cottage and Rural Industries Policy 2016

(C) MSME Development Act 2006

(D) Gujarat Industrial Policy 2020

212. In the context of entrepreneurship, the ‘Blue Ocean Strategy’ involves:

(A) Copying successful strategies from existing competitors

(B) Creating a new market space where there is very less competition

(C) Focusing solely on existing competition and how to outperform them

(D) Building a business strategy around the concept of water conservation

213. Which Indian institution provides support for entrepreneurship at the national level?

(A) Small Scale Industries Board (SSIB)

(B) National Small Industries Corporation (NSIC)

(C) National Institute for Entrepreneurship and Small Business Development (NIESBUD)

(D) All of the above
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214. What is the primary objective of the Industrial Policy of India?

(A) To increase exports

(B) To promote the establishment and growth of industries

(C) To encourage entrepreneurship

(D) To promote agriculture

215. Which of the following is NOT a type of fiscal incentive provided by the Indian government to

entrepreneurs?

(A) Sales Tax Exemption (B) Subsidy on power units consumed

(C) Capital Investment Subsidy (D) Increase in Import Duty

216. Who from the below mentioned list is not a major contributor in the development of Control

Charts and Samplin plan

(A) F. H. Dodge (B) H. G. Roming

(C) Walter Schewhart (D) J. M. Juran

217. Section 7 of MSMED Act 2006 provides for systematic classification of industrial units on the

basis of

(A) Investment in equipment, plant and machinery

(B) Activities undertaken

(C) Both (A) and (B) above

(D) None of the above

218. When the supply of money increases and the demand of money reduces there will be

(A) A fall in the level of prices (B) A decrease in the rate of interest

(C) An increase in the rate of interest (D) None of the above

219. The ‘Mudra Bank’ in India was established to:

(A) Provide microfinance services to the poor

(B) Provide microfinance services to SC and ST only

(C) Provide loans to large industrial enterprises

(D) None of the above

220. Under Credit Guarantee Trust Fund for Micro and Small Enterprises the extent of guarantee

cover is 85% for micro enterprises for credit upto Rs. _______

(A) 10 Lakhs (B) 8 Lakhs

(C) 6 Lakhs (D) None of the above

221. Under Credit Linked Capital Subsidy Scheme, credit support is provided for:

(A) Upgrading Technology (B) Increasing Production

(C) Extending Distribution (D) None of the above

222. The MUDRA card is a _______issued to the Micro entrepreneurs who have availed the loan from

the Bank under Prdhan Mantri Mudra Yojana (PMMY)

(A) Debit Card (B) Credit Card

(C) Identity Card (D) None of the above
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223. In relation to women’s role in trade and commerce WICCI stands for_______?

(A) Women Industrial Chamber of Commerce of India

(B) Women’s Indian Chamber of Commerce and Industry

(C) Women’s Industrial Connect for Commerce and Industry

(D) Women’s Initiative for Chamber of Commerce and Industry

224. In respect to Livelihood Business Incubator centres to be set up by NSIC, KVIC or Coir Board

or any other Institution/agency of GOI/State Govt. on its own or by any of the

agency/organization of the M/o MSME, one-time grant of _______% of cost of Plant &

Machinery other than the land and infrastructure or an amount up to Rs. _______ lakh,

whichever is less to be provided

(A) 100%; 100 (B) 75%; 75

(C) 50%; 50 (D) None of the above

225. According to the MSMED Act of 2006, what is the maximum investment limit for a micro

enterprise in the manufacturing sector?

(A) Rs. 10 lakh (B) Rs. 25 lakh

(C) Rs. 50 lakh (D) 1 crore

226. In 2012 SIDBI implemented _______ programme funded by UKAID through Department for

International Development (DFID), UK

(A) CGTMSE (B) ISARC

(C) PSIG (D) None of the above

227. Beta () is a measure of

(A) Systematic Risk (B) Unsystematic Risk

(C) Total Risk (D) None of the above

228. The ratio of the percentage increase in Earnings Per Share (EPS) to the percentage increase in

Earnings Before Interest and Taxes (EBIT) is called

(A) Operating Leverage (B) Combined Leverage

(C) Financial Leverage (D) None of the above

229. The YTM of a bond implies

(A) The rate of interest which is printed on the face value of a bond

(B) The rate of interest which a purchaser of bond starts getting when he purchases a bond in

the market.

(C) The rate of return which a purchaser of bond gets if he holds the bond till its redemption

(D) None of the above

230. When interest rates fall, a bank that perfectly hedges its portfolio of Treasury securities in the

futures market

(A) Suffers a loss (B) Experiences a gain

(C) Experiences no change in its income (D) None of the above

231. When Futures price is greater than Spot Price investors / arbitrageurs in order to make profit

will take

(A) Long Position in Spot and Short position in Futures

(B) Long position in Futures and Short position in Spot

(C) Wait till spot price becomes greater than futures price

(D) None of the above
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232. An investor takes a long position on Interest rate Futures when he anticipates that interest rates

will

(A) Rise (B) Fall

(C) Remain Stable (D) None of the above

233. What is the main role of the District Industries Centre (DIC) in promoting Small Scale Industries

(SSIs)?

(A) Providing sales and marketing support

(B) Offering managerial and technical consultancy

(C) Preparing feasibility reports

(D) All of the above

234. In the context of small business, ‘Cluster Development’ refers to:

(A) The development of a group of businesses producing similar products or services in a

particular geographic area

(B) Developing of businesses in rural areas only

(C) The development of businesses across different industry sectors

(D) The development of a group of businesses producing diverse products or services in

different geographic areas

235. Assume you are holding Treasury securities and are short on futures to hedge against interest

rate risk. If interest

rates rise

(A) the increase in the value of the securities equals the decrease in the value of the futures

contracts.

(B) the decrease in the value of the securities equals the increase in the value of the futures

contracts

(C) the increase in the value of the securities exceeds the decrease in the values of the futures

contracts.

(D) None of the above

236. Which of the following brings out the Consumer Price Index Number for Industrial Workers?

(A) The Reserve Bank of India

(B) The Department of Economic Affairs

(C) The Labour Bureau

(D) None of the above

237. Consider the following statements regarding National Productivity Council:

1. NPC is a national level organization to promote productivity culture in India

2. NPC comes under the Department for Promotion of Industry and Internal Trade (DPIIT),

Ministry of MSE.

Which of the given statement is /are correct? 

(A) Only 1 (B) Only 2

(C) Both 1 and 2 (D) None of the above
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238. Trade Related Investment Measures (TRIMS) doesn’t apply for

(A) Measures that affect trade in goods

(B) Measures that lead to restrictions on quantities

(C) Discouraging measures that limit a company’s imports

(D) None of the above

239. Which of the following is the method of measuring National Income ?

(A) Income Method (B) Product Method

(C) Expenditure Method (D) All of the above

240. Why are the intermediate goods not included in the National Income while measuring National

Income?

(A) To avoid double accounting (B) To avoid effect of inflation

(C) Intermediate goods are not good goods (D) All of the above

241. Which of the following fall under the ambit of Ministry of Commerce and Industry?

(A) Special Economic Zones

(B) Export Promotion Councils

(C) Commercial Wings in the Indian Missions abroad

(D) All of the above

242. The Geographical Indications Registry operates under the:

(A) Ministry of Commerce & Industry

(B) Ministry of Agriculture

(C) Department of Industrial Policy and Promotion

(D) Ministry of Home Affairs

243. _______ is a trust established by the _______ in 2003 with the objective of promoting and creating

international awareness of the Made in India.

(A) India Brand Equity Foundation ; Department of Commerce, Ministry of Commerce and

Industry

(B) Export Promotion Council ; Department of Commerce, Ministry of Commerce and

Industry

(C) Made in India Foundation ; Ministry of Finance

(D) India Brand Equity Foundation ; Ministry of Finance

244. _______ is a dedicated e-market for different goods & services procured by Government

Organisations / Departments / PSUs.

(A) Government e Marketplace (GeM) (B) e-chaupal

(C) e-vyavpar (D) None of the above.

245. The National Productivity Council (NPC) was established in the year :

(A) 1958 (B) 1968

(C) 1978 (D) None of the above

246. PM GatiShakti National Master Plan (PMGS-NMP) is a scheme of

(A) Director General of Trade Remedies

(B) Department for Promotion of Industry and Internal Trade

(C) International Trade Policy Division

(D) None of the above
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247. CPGRAMS is an online platform available to the citizens 24x7 to lodge their grievances to the

public authorities on subject related to

(A) RTI (B) Subjudice matters

(C) Service Delivery (D) None of the above

248. _______ a Deemed to be University, was established in 1963, as an autonomous body under the

Ministry of Commerce & Industry, Government of India.

(A) Indian Institute of Plantation Management, Bengaluru

(B) Indian Institute of Foreign Trade, New Delhi

(C) Indian Industrial Institute of Management and Technology, Kolkata

(D) Indian Statistical Institute, Chennai

249. Under Gujarat Single Window Clearance Act, 2017 the State Government will appoint an

Investor Facilitation Agency which shall be a cell and headed by

(A) Chief Minister of Gujarat

(B) Minister of Industries and Mines, Government of Gujarat

(C) Principle Secretary, Minister of Industries and Mines, Government of Gujarat

(D) Industries Commissioner, Government of Gujarat

250. The Gujarat Industrial Policy 2020 proposes to make available Government land on long-term

leases for industrial purposes. The period of such a lease is

(A) 50 years (B) 05 years

(C) 20 years (D) 10 years

251. Which of the following is not listed as a Sunrise Sector under the Gujarat Industrial Policy 2020

(A) Industry 4.0 manufacturing (B) Electric Vehicle and its components

(C) Waste management projects (D) Gems and Jewellery

252. With the advent of industrialization, cottage and village industries have witnessed a decline.

Which of the following is not a direct threat to the growth of such industries?

(A) Lack of easy access to credit (B) Highly Unorganized sector

(C) Change in climatic conditions (D) Inadequate raw material supply

253. The Gujarat Cottage & Rural Industries Policy 2016 identifies the concept of _______ which

refers to a craft which has ceased to be practised any more or is practised by a few whose number

is fast dwindling.

(A) Enervated Crafts (B) Languishing Crafts

(C) Lethargic Crafts (D) None of the above

254. The handloom and handicrafts sector is a major source of supplementary income-generating

activities for a large number of women in Gujarat. To promote this there is an award given by

Gujarat Government for the best woman artisan which carries a reward of

(A) Rs. 1.25 lakh. (B) Rs. 1.00 lakh.

(C) Rs. 0.50 lakh (D) Rs. 10.00 lakhs

255. In Gujarat, Kandla and Surat have SEZs. Which of the following is not a feature of such an SEZ

(A) specifically delineated duty-free enclave

(B) deemed to be foreign territory for trade operations

(C) deemed to be foreign territory for duties and tariffs

(D) deemed to be a foreign territory for labour laws
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256. The state of Gujarat passed an Act to make special provisions for securing the orderly

establishment and organisation of industries in industrial areas and industrial estates in the State

of Gujarat and to establish commercial centres in connection with the establishment and

organisation of such industries. The Act is called

(A) The Gujarat Industrial Development Act, 1962

(B) The Gujarat Industrial Infrastructure Development Act, 1962

(C) The Gujarat Commercial Development Act, 1962

(D) The Gujarat Development Act, 1962

257. The definition of MSME as mentioned in The Gujarat Micro, Small and Medium Enterprises

(Facilitation of Establishment and Operation) Act, 2019 is in line as per which Central

Government Law

(A) The Micro, Small and Medium Enterprises Development (Amendment) Bill, 2015

(B) The Micro, Small and Medium Enterprises Development Act, 2006

(C) Industrial Disputes Act 1947

(D) Companies Act 2013

258. Consider the following statements regarding relation between marginal cost and average cost of

lending, which one of the following statement is correct

(A) Average cost of lending is higher than marginal cost of lending

(B) For the first borrowing, average cost of lending and marginal cost of lending are equal.

(C) Average cost of lending is lower than marginal cost of lending

(D) None of the above

259. When the Reserve Bank of India announces an increase in the cash reserve ratio, what does it

mean?

(A) The commercial banks will have less money to lend

(B) The commercial banks will have more money to lend

(C) The Central Government will have less money to spend

(D) None of the above

260. The Ministry of Textiles, Government of India to promote exports of all handloom products like

fabrics, home furnishings, carpets, floor coverings, etc has created a nodal agency. This agency

known as

(A) Handloom Export Promotion Council (HEPC)

(B) Handloom Export Promotion Corporation (HEPC)

(C) Handloom Export Promotion Conclave (HEPC)

(D) State Handloom Export Promotion Council (SHEPC)

261. Which one of the following is not an instrument of selective credit control in India?

(A) Regulation of consumer credit

(B) Rationing of credit

(C) Margin requirement

(D) None of the above
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262. Re-order costs are the costs of making orders to purchase a quantity of a material item from a

supplier. They include costs such as:

(A) The cost of delivery of the purchased items, if these are paid for by the buyer

(B) The costs associated with placing an order, such as the costs of telephone calls

(C) Costs associated with checking the inventory are delivery from the supplier

(D) All of the above

263. The problems arising due to conflict of interest among equity shareholders, debentures holders

and management is:

(A) Bankruptcy problems (B) Public problems

(C) Agency problems (D) None of the above

264. Outlay for PM Awas Yojana has being enhanced by _______ to over Rs. _______ Crore in the

Union budget 23-24

(A) 66% ; 79,000 (B) 50% ; 70,000

(C) 60% ; 69000 (D) None of the above

265. As per Union Budget 2023-24, 10000 _______ will be set-up thereby creating a national-level

distributed micro-fertilizer and pesticide manufacturing network.

(A) Bio-Input Resource Centres (B) Fertilizer-Input Resource Centres

(C) Pesticides-Input Resource Centres (D) None of above

266. What is the validity period of a BIS certification?

(A) 1 year (B) 2 years

(C) 3 years (D) 5 years

267. Can a foreign manufacturer apply for BIS certification for their products to be sold in India?

(A) Yes, through the Foreign Manufacturers Certification Scheme

(B) No, BIS certification is only for Indian manufacturers

(C) Yes, but only for certain product categories

(D) No, but they can apply for a different quality standard

268. As per the provisions of Union Budget 2023-24 Revamped credit guarantee scheme for MSMEs

to take effect from

1st April 2023 through infusion of Rs 9,000 crore in the corpus. This scheme would enable

additional collateral-free guaranteed credit of _______ crore and also reduce the cost of the credit

by about _______.

(A) Rs. 3 Lakhs ; 2 per cent (B) Rs. 2 Lakhs ; 1 per cent

(C) Rs. 4 Lakhs ; 1.5 per cent (D) None of the above

269. Under the provisions of _______, 500 new ‘waste to wealth’ plants under GOBARdhan scheme

will be established for promoting circular economy at total investment of Rs 10,000 crore.

(A) Gujarat State Budget 2023-24 (B) Union Budget 2023-24

(C) Smart City Project 2023-34 (D) None of the above

270. iGOT Karmayogi, an integrated online training platform, launched to provide continuous

learning opportunities for lakhs of _______ to upgrade their skills and facilitate people-centric

approach.

(A) Private Sector Employees (B) Unorganized Sector Employees

(C) Unemployed Fresh Undergraduates (D) Government Employees
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271. National Data Governance Framework Policy 2023 is published by

(A) Ministry of Science and Technology, Government of India

(B) Ministry of Defence, Government of India

(C) Ministry of Electronics and Information Technology, Government of India

(D) Ministry of Home Affairs, Government of India

272. The Atal Tinkering Labs (ATL) were created by government with a purpose to…. 

(A) provide a learning spaces for school students with the aim to inculcate skills such as design

mindset, computational thinking, adaptive learning, physical computing etc..

(B) develop advanced AI based tools for indigenous weapons.

(C) to create technologies and products in 24 identified sectors by providing grants up to Rs 1

crore to support innovation and scalability.

(D) to invite industry leaders to guide and mentor college students in the fields of technical

expertise, innovation and design, inspiration or entrepreneurial in nature

273. Venture capital financing is a form of:

(A) Debt financing (B) Private Equity financing

(C) Asset-based financing (D) Structured financing

274. Union Budget 2023-24 proposed setting up of a _______ to serve as the central repository of

financial and ancillary information for facilitating efficient flow of credit, promoting financial

inclusion, and fostering financial stability.

(A) National Financial and Ancillary Information Registry

(B) National Registry for Financial Transactions

(C) National Financial Information Registry

(D) None of the above

275. The rate of financial assistance under the scheme Extension of Financial Assistance to Coir units

in the Brown Fibre sector is _______ of the cost of equipment and infrastructural facilities

subject to certain ceiling limits based on the type of unit.

(A) 25% (B) 30%

(C) 35% (D) None of the above

276. In the context of start-up finance, what does the term “Angel Investor” mean?

(A) A private individual or group of individuals who invest in start-ups in exchange for equity

(B) A financial institution that lends money to start-ups

(C) A government entity that provides grants to start-ups

(D) A multinational corporation that invests in global start-ups

277. Mezzanine financing is a hybrid of:

(A) Debt and equity financing (B) Angel and venture capital financing

(C) Bootstrapping and debt financing (D) Crowdfunding and equity financing

278. What is the primary feature of deep discount bonds?

(A) It does not involve any interest payment (B) It is issued for perpetual period of time

(C) It is a form of short-term financing (D) None of the above
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279. What is the main difference between venture capitalists and angel investors?

(A) Angel investors are always individuals while venture capitalists are institutional investors

(B) Venture capitalists always invest in tech start-ups while angel investors do not

(C) Angel investors offer loans while venture capitalists offer grants

(D) None of the above

280. In a startup, ‘sweat equity’ is referred to:

(A) Equity given for Non-cash contribution of a person to a business venture

(B) Equity shares given to investors for their monetary contribution

(C) The actual value of physical assets of the company

(D) The money invested by founders in the company

281. In the context of startup financing, what does ‘Down Round’ refer to?

(A) A round of financing where investors purchase equity shares at a lower price than the

previous investors

(B) A round of financing where investors purchase equity shares at a higher price than the

previous investors

(C) A round of financing where only institutional investors participate

(D) A round of financing where only angel investors participate

282. If a startup chooses to raise funds through a ‘Series A’ round, it is likely to be in which stage of

its life cycle?

(A) Ideation stage (B) Development phase

(C) Maturity stage (D) Exit stage

283. Consider the following statement with respect to antimicrobial resistance:

1. India is a member of Global Antimicrobial Resistance Surveillance System (GLASS)

launched by WHO.

2. Genetic predisposition of some people also may cause antimicrobial resistance.

3. Kerala is the first state to develop an action plan to manage antimicrobial resistance.

(A) Only 1 (B) Only 2

(C) Only 3 (D) All 1, 2 and 3 above

284. Torre faction technology is related with which of the following?

(A) Production of Bio-Coal

(B) Extraction of Crude Oil

(C) A technique of building bridges on big rivers

(D) All of the above

285. Claytronics, an evolving concept, is related to which of the following

(A) Quantum computing (B) Manufacturing of semi-conductors

(C) Water Testing (D) None of the above

286. The Chapter II, _______ of the MSMED Act-2006 provides for establishment of National Board

for Micro, Small & Medium Enterprises (NBMSME) and its functions etc.

(A) Section 3 to Section 6 (B) Company Description

(C) Market Analysis (D) Marketing and Sales
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287. National Board for Micro, Small & Medium Enterprises (NBMSME) consists of 47 members of

which _______ are

Ex-officio members and _______ members tenure is for two years from the date of notification

(A) 18; 29 (B) 20; 27

(C) 22; 25 (D) None of the above

288. According to Market Promotion & Development Scheme (MPDA) of Ministry of Micro, Small

and Medium Industries, Government of India, Modified MDA (MMDA) shall be allowed @

_______ on the Prime cost of Khadi (cotton, silk, woollen) and Polyvastra

(A) 20% (B) 25%

(C) 30% (D) None of the above

289. Micro & Small Enterprises who have already commenced their commercial production but not

completed ______ of existence are eligible for Single Point Registration Scheme of Ministry of

Micro Small & Medium Enterprises, GoI

(A) 4 years (B) 3 years

(C) 2 years (D) None of the above

290. According to Gujarat Micro, Small and Medium Enterprises (Facilitation of Establishment and

Operation) Act, 2019 an MSME in Gujarat can now start operation upon receipt of an

acknowledgement certificate from the state nodal agency by submitting the _______.

(A) Declaration of Interest (B) Declaration of Intent

(C) Declaration of Purpose (D) None of the above

291. What does the financial projections part of a business plan typically include?

(A) Forecasted income statements, balance sheets, and cash flow statements

(B) An overview of the business plan's key points

(C) The marketing and sales strategy

(D) The organizational structure of the business

292. Which part of the business plan typically outlines the expected activities, milestones, and

deadlines related to the company's products and services?

(A) Executive Summary (B) Marketing and Sales

(C) Market Analysis (D) None of the above

293. SIET stands for:

(A) Small Industries Extension & Training Enterprise

(B) Small Investment Extension & Training Enterprise

(C) Small Industries Extension & Training Institute

(D) None of the above

294. The eligibility criteria for an incubator to apply in the Startup India Seed Fund scheme is that

an incubator must be a legal entity:

(A) A society registered under the Societies Registration Act 1860,

(B) A Trust registered under the Indian Trusts Act 1882,

(C) A Private Limited company registered under the Companies Act 1956 or the Companies Act

2013

(D) Any of the above
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295. The customer acquisition strategy is usually part of which section in the business plan?

(A) The Company Description section

(B) The Organization and Management section

(C) The Marketing and Sales section

(D) The Market Analysis section

296. Under Startup India Seed Fund scheme if the Incubator has not utilized at least 50% of the total

commitment within the first _______ years, then the Incubator will not be eligible for any further

drawdowns.

(A) 2 (B) 3

(C) 4 (D) None of the above

297. In the new industrial developments, what does the word ‘cobot’ refers to?

(A) AI enabled new age computer (B) an alternative to robot

(C) Collaborative Robots (D) creative robots

298. What does GPT in ChatGPT stands for -

(A) Generative and Predictive Tools

(B) Generation and Prediction based on Technology

(C) Generative Pre-Trained Transformer

(D) Generative Predictive Models of Technology

299. The advanced generative AI based tools can perform which of the following tasks?

(A) Generate text in response to user’s input

(B) Generate music in response to user’s input

(C) Generate images in response to user’s input

(D) All of the above

300. What is Industry 5.0 primarily concerned with?

(A) Greater automation through robotics

(B) The establishment of mass production lines

(C) Personalized, tailored production, and enhanced human-machine collaboration

(D) The development of steam-powered machinery
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